Part | : Reason'ing (50 Marks)
AWM 1 : 9% (50 ATHA)

Directions In each of the following questions, select the related word from the given
alternatives:-

IG LI mmma#_mm‘mﬁ#maﬁmwﬁ

Q1.  Giant : Dwarf x Genius : ?

(a) Wicked (b)  Gentle (c) Idiot (d) Tiny

.

Q2. Forecast: Future :: Regret : ?

(@) Present (b) Past (c) Atone (d)A Sins
Q3. Planet : Orbit i Projectile : ? )

(a) Track (b)  Milky Way (c) Trajectory (d) Path
Q4. Pesticide:Crop ::  Antiseptic : ?

(a) Clotting (b) Bandage (¢)  Wound (d) Bleeding
Q5. Symphony : Composer L Fresco:?

(a) Painter (b) = Inventor  (c)  Singer (d)  Writer

Directions In each of the following questions, there is a certain relationship between
mnumbers on one side of : : and one number is given on another side of the
same : : while another number is to be found from the given alternatives:-

e : ﬁmﬁﬁﬁmmaﬁ,waﬂtﬁmamﬁa?mw%
retr & ¢ 3t 3 ¥ qEd o vw gew & wh ¥ s Rw v Rwed @

mmmm%

Q6. 42:20 5 5 64 :7?
(a) 31 (b) 32 (c) 33 (d) 34

Q7. 49:871 4 100: ? X
(a) 64 (b) 144 (c) 169 (d) None of the above



Q8. 0.16:0.0016 ::1.02:7

(@) 0.0102  (b)  0.102 (c) 1.020 (d). 10.20
Q9. 1:1 :: 25:°?
(@26 =~ (b) 625 (c) 125 (d) 240

Dir.ections In ea-ch of the following questions four words have been given out, out of
which three are alike in some manner and the fourth one is different. Choose out the
odd one. ; i
frfer : AfafA@d v@F W & 9R) e ke v ¥, Feaw @ i Rl e«
AT ¢ 3 dtar areer €. v # 9fac

Q10. (a) Rhea (b)  Trout (c) Lamprey (d)  Salmon

Q11. (a) Commander (b) Commodore (c) Brigadier (d) Admiral

Q12. (a) Microscope (b) Telescope (c) Periscope  (d) Stethoscope

Q13. (a) Thyroxih (b) Adrenalin (c) lodine (d) Insulin

Directions In these questions the letters in a word are replaced by certain other
letters according to a specific rule to form its code. You are required to detect the coding

pattern / rule and answer the questions accordingly.
- &&er am##wam*a@ﬁﬁﬂwmﬁ%w@mm&
.mmwmmm&mmﬂzﬁ/ﬁwnwm%aﬁt

FEF AR TeAl T 3T &= ¢

Q14. In a certain language, OPERATION is written as NODQBUJPO. How is
INVISIBLE written in the code?

s frRead smar #, OPERATION &I NODQBUJPO F w0 # fAar g ar

INVISIBLE #T @ for@r s @

(a) JOWJTJCMF (b) JOWJTHAKD  (c) HMUHTJCMF  (d) HMUHTHAKD



Q15. In a certain code language, PLEADING is written as FMHCQMFB. How is
SHOULDER written in the code?

uF fafad st &, PLEADING #t FMHCQMFB & & # fa@r & @ fw
SHOULDER =t &% for@r smar #

(@) KCDQTIPV (b) QDCKTIPV (c) QDCKVPIT (d) TIPVQDCK

Q16. In a certain code language, GAMBLE is written as FBLCKF. How is FLOWER
written in the code?

vs ffRaa TN #, GAMBLE &t FBLCKF & w9 # faar &. @ f FLOWER &
T Smar @

(@)  HNQYGT (b) EMMXDS (c) GKPVFQ (d) GMPVDS

Directions In these type of questions generally a set, group or series of numerals is
given and you are required to trace out the numerals following certain given conditions.

frfer : W YER ¥ weedl & 3 dR G 1 vF de, WAF AT s@en & S §
mmWﬁﬁaaamemmguaﬁﬁmmm%

Q17. Sam ranked 9" from top and 38" from the bottom in the class. How many
students are there in the class?

Sam FaT F FAT ¥ 9oF 3T T ¥ 389 T W . FaT H Faad aH T ?

(a) 45 (b) 46 (c) 47 (d) 48

Q18. Manoj and Sachin are ranked 7" and 11" respectively from top ih a class of 31
students. What will be their respective ranks from the bottom in the class?

Manoj 3itT Sachin 31 aEt &Y TE FET A FW ¥ FAT: 73 IR 11T W W/ T
e 3 B & I eatta Y& F4 gl ?
(@) 20" and 24" (b)24" and 20" (c)25™and 218 (d) 26" and 22

from the left and B is 4™ from the right. There are three

Q19. In arow of boys, Ais 15"
left of A. What is C’s position from the right?

boys between A and B. C is just
asaﬁaﬁwﬁﬁaﬁ,Am#153mw%.AaﬁTBa:m;nqmg_ c. A

¥ @ & g @ C T T FT 82

@@ 9" (b) 10" (c) 12" (d) 13"



Q20. Richard is 15t from the front in a column of boys, there were thrice as many

behind him as there were in front. How many boys are there between Richard and the
7" boy from the end of the column?

ma:wﬁaw#Richardm#15&@1#-\11%.%13#‘«111##33# GiGH
?_;a'rthtl'a’r.m*m#Richard,ﬁT?aaﬁ#mmﬁm??

(@ 33 (b) 34 (c) 35 (d) None of these

Q21. N rank 5" in the class, S is 8" from the last. If T is 6™ after N and just in the
middle of N and S, then how many students are there in the class?

Nmﬁsamw%.Safﬁw#B&mw%.uﬁT,N*mG&wmw%sﬁtNaﬂr
S%%m#%a’rmﬁﬁmﬁﬁqﬂm’r%?

@ 23 (b) 24 (c) 25 (d) 26

Q22. In a row of 21 girls when Monica was shifted by four places towards the right,

she became 12" from the left end. What was her earlier position from the right end of
the row?

21 asﬁrq?aﬁrwdﬁ?r#mmnicaﬁwwﬁ#a?mwmiaﬁam
srm%,awa@‘aﬁr#mﬁam%ﬁﬁ—d*a@w@rmmﬁﬁuﬁ
Far of ? ,

(@ 8™ (b) 10" (c) 12" . (d) 14"

Directions In these type of questions some particular objects are assigned code
names, then a question is asked that is to be answered in the code language.

m&r;swmﬁ:mﬁ#,gmﬁaha@aﬂaﬂzamﬁww%.ﬁnwymz
ww%,ﬁwmaﬁmﬁmﬁﬁaaﬂgm#gﬁu

Q23. If sand is called air, air is called plateau, plateau is called well, well is called
island, island is called sky, then from where will a women draw water?

I ¥T # gAT FEr A9, m~ﬁmmaﬁ.mﬁ§3ﬁmm, AT F
g9 FET A, T FN ITERT FET A, A ARAC qh FE F wroIn?
. (a) island EAT (b) well FH  (c) sky 3rerer (d)  air gar

Q24. If cloud is called white, white is called rain, rain is called green, green is called
air, air is called blue and blue is called water, where will the birds fly?

afX A F wHE FET AL, TG F AR F§T AR, AR B g7 Fwr oA, w@x F
mmaﬁ,wﬁﬁmmaﬁ,ﬁﬁnﬁmﬁ,ﬁmﬁaﬁﬁﬁ?




(@) airgar (b) blue stem (c)  cloud sT&el (d)  white %G

Q25. If water is called food, food is called tree, tree is called sky, sky is called wall, on

which of the following grows a fruit?

wﬁmﬁmﬁmaﬁ,mﬂaﬁqﬁmaﬁ,qﬂaﬁmrmm, T
F SaR FET I, @ FeT F ¥ B W G AT 87

(a) water I (b) food #WSI\ (c)  sky sreerer  (d)  tree AT

substitutes for various mathematical
Iving calculation of an expression or
required to put in the real signs or

Directions In this type you are provided with
symbols or numerals, followed by a question invo
choosing the correct / incorrect equation. You are
numerals in the given equation and then solve the question.

ader - wmﬁmmmmmﬁﬁa;mmmﬁ
mmwmaﬁmm%ﬁmﬁmaﬁmmqﬁ/mmm
Wanﬁam%.awqﬁﬁtmmﬁmﬁ?ﬁﬁ?maﬁaﬂ#ﬁm
3l fpy FAEAST T g FA P HEITFAT ©

Q26. If Q means to +, J means to x, T means -, K means +
?

uﬁam+,Jmﬂx.Tma-,Km+,m30K2Q3J6T5=?

. then30K2Q3J6T5=

(@ 18 (b) 31 (c) 28 (d) 103

Q27. If P denotes +, Q denotes X, R denotes + and S denotes -, then what is the value
of 18Q12P4 R5S67?

aﬁPm+.Qmﬁx.Rm+,sm—,m18Q12P4Rss

67
(a) 59 (b) 53 (c) 63 (d) 65

Q28. If A stands for + B stands for - C stands for x, then what is the value of (10 C 4) A
(4 C4)B67
afr A AaAT +, B AGAd -, C AGAd x, X (10C4)A (4C4)B6F 7ea FaT § ?

(a) 50 (b) 60 (c) 56 (d) 46

Directions In each of the following questions, clues are given regarding comparisons
among set of persons, things, direction, age, time, numbers etc. You are required to
analyse the whole information and answer the given question accordingly.




.E‘_&g[: mmmaﬁaﬁaﬁﬁm‘g#mqﬂm%mﬁm
fw v & & & R, mg,m,msmﬁ%.m@rmmmm;w
P AN IqE AN R 7w qea 1 5eR 3 A 0T @

Q29. If a 1 mm thick Paper is folded so that the area is halved at every fold, then what
would be the thickness of the pile after 50 folds?

uﬁw1mmmmﬁwmmamaﬁrma'g-mmma
I AT & F aEl fir Aers 50 AT F a1 T4 @Ot 2
(@ 100 km (b) 1000 km () 1 milionkm (d) 1 billion km

Q30. A was born 2 years after his father's marriage, his mother is 5 years younger

than his father, but 20 years older than A, who is 10 years old. At what age did the
father get married?

Ammﬁh*mw*zwmgm,mﬁmm#smm_
§ A AF 20 e w3 § w397 anht 10w ¥ Rrar A ol B s A g 2

(a) 35 years (b) 25 years (e} 23 years - (d) 33years

Q31. A father tells his son “I was of your present age when you were born”. If the
father is 36 now, how old was the boy 5 years back?

wﬁmmﬁéﬁ#m%ﬁﬁgﬁﬁaﬁﬂmmmmmaﬁﬂay&m
30% Rar 39 36 3§ & § o a5F A 37 5 W GEAd F41 o ?

(a) 15 years (b) 13 years (c) 17 years (d) 20 years

Q32. A father is now 3 times old as his son. 5 years back, he was 4 times old as his
son. The age of the son (in years) is?

v Rar s@ g7 $1 g F AT AT 991 ¥ U9 WA TeA & HA 9 F AR AT
TS YU T A FZHFAE ?
(a) 15 years (b) 12 years (c) 18years (d) 20 years -

A woman says, “if you reverse my own age the figures represents my htt.lhsband’.s
~& He is. of course, senior to me and the difference between our ages is 1/11™ of their

son”. The women’s age is?
waﬁmﬁ?ﬁ%aﬁmmmmaﬂmammmqﬁﬁm.m
mﬂam%.nmm#wm%mmm*mmm
mﬂﬂta?rsaﬂwﬁaﬁw%iﬂjﬁa?rmw%?




(@) 23 years (b) 34 years (c) 45years (<i) 50 years

d English, while 3 of them read

Q34. In a group of 15 people, 7 read French, 8 rea
P English both?

none of these two. How many of them read French and
15 At & wag & 7 ¥ vad ¥, 8 IdGh wgd ¥ ol I F 3 F A FN A
T ¥ g & Rrast anr S sl 3reh Al ed € 7

(@ O (b) 3 (c) 4 (d)5

Q35. M went to movies 9 days ago. She goes to the movies only on Thursdays. What
day of the week is today?

Mmﬁwmn@mmmamwﬁan@thmm
FHARTE ?

(@)  Thursday T¥@R (b)  Saturday erfAER

(c) Sunday IRAEAR (d)  Tuesday HIT AR

Q36. If 30™" January 2003 was Thursday what was the day on 2" Mar 20037
3R 30 SAad 2003 T e IFER 4T, aF 2 AN 2003 FlT @7 AT ¥ ?

(a) Sunday If@a (b)  Tuesday HITAAR

(c)  Thursday %R (d)  Saturday erfaEaR

Directions In each of the following questions, a matrix of certain characters is given.
These characters follow a certain trend, row-wise or column wise. Find out this trend

and choose the missing character accordingly.
fager : TfAf@a # F 9% WA JA T Ul F1 INTw w ARwa wgfa &
ITHTT FIAT § S 9fFa & AR AT T F IMAR 8. wgfa &1 gar somd 3R

3IAF IASHR AT A H I

Q37.

4 5 6
2 3 7
1 8 3

21 98 ?

(@ 94 () 76 () 73 (d) 16




Q38.

963 |2 844
464 ? 903
(@ 1 (b) 2 (c) 3 (d) 4
Q39.
7 4 5
8 7 6
3 3 ?
29 19 31
(@ 3 (b) .4 (c) 5 d) 6
Q40.
42 44 38
23 55 28
37 ? 39

(@ 22 (b) 33 (c) 66 (d 677

Directions Each of these questions given below contains three elements. These
elements may or may not have some inter-linkage. Each group of elements may fit into

one of these diagrams at (a), (b), (c) or (d). You have to indicate the group of elements
which correctly fits into the diagrams.

frder : A9 e 7T yAF T A I a7 B 5 dc@ H F AW - wFaew @ s
FFar & 3l AT o). acal FT UAF WAF 5 NG H ¥ vF F e & Fwar T
Y 3 dedl F THE F AT FIET § S I@T HA T T e @A ¥



Q41. Which of the following diagrams indicates the best relation between Doctors,

Human Beings and Married People?

PrfafRe & @ s @1 @ s, 7T sk Rarfea aplt & &7 J=@
IV HFATY FY 2ET &

@0
(c) : (d) '

Q42. Which of the following diagrams indicates the best relation between Man, Worker
and Garden?

ma##mmmmw FAFar 3 = F T g9 =D
HFET FT CATaT &

(@ ‘@ o OO

4 %
© ©o O

Q43. Which of the following diagrams indicates the best relation between Males,
Cousins and Nephews?

Prefafea # @ #l @1 @ 7, TR 0 ST srefom F ha wad
TS FEaSU HY gAuTET ¥

(a) @ (b) OQQ "
(c) (d) @ o




Directions In each of the followin
alternatives, which when placed in
pattern.

g questions, select a figure from amongst the four
the blank space of figure (X) would complete the

fAdr . AR v wew F o R A ¥ ve wfpfa &1 a9 &Y, T
anfﬁ?(X)=¥‘h?ﬂ'?ﬂﬁili!iﬁ?tn‘&a#tfuiﬁ:annn

Qa44. Y{;i
.2 N~E 7 )

) @ ® (© @

Q45. In the following, a set of figures carrying certain characters is given. Assuming that
the characters follow a similar pattern, find the missing character.

feef@d & & v=as # aEl A uRer w3 el anfEREt 1 9 Rar T ¥ e
AT U, A JoT UF FAW deet T 37awor F3a &, oo aof &1 AT HA

IAVAV/ANS

@ 28 () 30 (c) 35 (d) 27

Directions In the following, series of numbers are given following a certain pattern.
One term in the number series is wrong. Find the wrong term.

e : TemraTEa d, e ARTd Yed & AR wEmEt e siwer & b
HEAT si@eT #F U ug dad §. Tad §Edl @t
Q46. 196, 169, 144, 121, 80

(a) 80 (b) 121 (c) 169 (d) 196

Q47. 1,3,7, 15, 27,63, 127
(@) 7 (b) 15 (c) 27 (d) 63



Directions Choose the odd numeral pair / group which is different from the others.

@&er : Wﬁwmw/aﬂjgﬁa’rm#mﬁrﬁ

Q48. (a) 95-82 (b) 69 -56 (c) 55-42 (d) 48-34
Q49. (a) 11-115 (b) 10-90 (c) 9-72 (d) 8-56
Q50. (a) 81-63 (b) 24-48 (c) 21-15 (d) 13-39

Part Il : Elementary Mathematics (Marks 50
AT 2 : 7ol (50 ATFH)

Q51. A number, when divided by 987, gives a remainder 59. When the same number
is divided by 21 what is the remainder?

THF HEIAT T 987 ¥ AMfSd I 97 59 ANGA UIed aldr &, 9 3dF &r 21 &
Fanfara fFar srar & ar 9w §&ar a1 87

@ 21 () 19 () 17 () 15

>

Q52. If a positive integer leaves remainder 28 when divided by 143, then what is the
remainder obtained on dividing the same number by 137

afE wF yaATeAS qUITE AW 28 Bisar ¢ 143 ¥ Rafora =t ), ar 3 @& +y 13
T RAafag F3 9T ANEA FAT JI°d J1am?

(a) 0 (b) 2 (c) 9 (d) 10
e

Q53. (NP'—1)is a multiple of p, if N is prime to p and p is a?
Ffy (NP'— 1) ,p T Forar 8, 3 N ,p &7 33157 ¢ ,aF p &am §2
(@)  Prime number 3¥{TST HEAT (b)  Rational number 9R&AT FEAT

(c)  Real number arFdfas® H&AT (d)  Composite number HgFd HE&AT

Q54. LCM of two numbers is 16 times their HCF. The sum of LCM and HCF is 850. If
one number is 50, then what is the other number?



atr;ivsum’ia:r LCM 3@ HCF #1 16 aam & .LCM 3R HCF &1 @wr 850 ¥. o =
HEAT 50 8, A qEd WA =y § 2

La) 800 (b) 1200 (c) 2400 (d) 1600

Cz55.b 1;he HCF of two numbers is 98 and their LCM is 2352. The sum of the numbers
may be?

&Y HEATET &1 HCF 98 ¥, 31X 3eehr LCM 2352 &. @Y 3o7 W&ATAT &1 AWT F41 ¥7?
(@) 1372 (b) 1398 (c) 1426 (d) 1484

Q56. How many numbers between 500 and 1000 are divisible by 13?2
500 3{iT 1000 & o fraeht FEaw 13 ¥ RAsmara 22

(@) 36 (b) 37 (c) 38 (d) 39

Q57. Which one of the following is a non-terminating and repe-ating decimal?
freafat@d & @ FiF §1 v swia 3 sradt e #2

(@ 13 (b) 3 () 3 (d) 137
8 16 11 25

Q58. Which among the following is the largest?
rfafET & @ FiT Fa 9397 872

b 1 () 3 (d) 10
@ I oGy - 4 < 13

Q59. What is the square root of 9 + 2V147?

g + 214 FT FIHSA FAT Bl &7
(@) 1+2\2 (b) 3 +16 (c) N2++7 (d) ~N2++5

Q60. What is the smallest number that must be added to 1780 to make it perfect
square?

agma\aﬁwm%mﬁqﬁaﬁm*mwso#mmm

(@) 39 (b) 49 (c) 59 (d) 69



tage is sala
Q61. If salary of X is 20% more than salary of Y, then by how much percentag ry

of Y less than X?

AR X BT A9 Y & A @ 20% st & &Y Y T AT X A P gfAUd FH 72

(a) 25 (b) 20 © §3Q (d) %—5-

Q62. A student has to secure 40% of marks to pass an exam. He gets only 45 marks
and fails by 5 marks. The maximum marks are?

TF ST BT TS 9T FGT F AT 40% 3 GIoT A @S 8. 9§ Fad 45 IAF wred
FTar &, 3R 5 3T @ srerecor gar ¥ @ srftwan Iw A 87

(@ 120 (b) 125 (c) 130 (d) 150

Q63. What is the number which has to be added to each term of the ratio 49 : 68, so
that it becomes 3:4 ? .

a8 #lT @ ¥EAT § O 49 : 68 F HAUT F UAF U H SAIST AT § ,AF IE 3!
4 g I13? |
(@ 3 (b) 5 (c) 8 (d 9

o A

Q64. The sum of the age of a father and the age of a son is 75 years. If the product of
their ages before 5 years was 750, then what is the present age of the father?

wﬁmaﬁramgsﬂtgaa?rangawm-maﬁ%.uﬁsaﬁ#qﬁmangm
IUAES 750 o1, @r far A adaAEr 3y 4 82
(@) 60 (b) 55 () 52 (d) 50

Q65. The fourth proportional to 7, 11, 14 is
7, 11, 14 &1 ST FATATA F41 872
(@) 16 (b) 18 () 20 d) 22

—

Q66. The average weight of a class of 15 boys and 10 girls is 38.4 kg. If the average
weight of the boys is 40 kg, then what is the average weight of the girls?

15a3ﬁ3ﬁ110a3ﬁm?a%wmm3ﬁﬂam38.4ﬁmm_agﬁw
sitwa aorer 40 fraY ¥ ar TR # itWa aure fraeT ¥2

(@) 36.5kg (b) 35kg () 36kg (d) 34.6kg
e



Q67. In a class of 100 students, there are 70 boys whose average marks in a subject
are 75. If the average marks of the complete class is 72, then what is the average
marks of the girls?

100mﬁaﬁrm#7oaga;§ﬁﬁa:wﬁwﬁaﬁwah:75%.uﬁq;&ma:
AT I3F 72% O wefrat ¥ sttwa s Fa4r 27

(@) 64 (/b) 65 (c) 68 (d) 74

Q68. The sum of two numbers is 7 and the sum of their squares is 25. The product of
the two numbers is?

ad@m?aﬂuW?%aﬁtmavﬁmmzs%.aTaﬁ?ﬁﬁ@mﬁmww
7

(@ 6 ) 10 () 12 (d) 15

Q69. The sum which amounts to Rs 364.80 in 8 years at 3.5% simple interest per
annum is?”

3.5% aTf¥e WIUROT 47T $T & & 8 a§t 3 Rs 364.80 #Y TR F4T geit?

(a) Rs285 (b) Rs 280 (c) Rs275 (d) Rs270

Q70. When an article is sold at 20% discount, the selling price is Rs 24. What is the
selling price when the discount is 30%7?

ST UF aEG B 20% T ¥ A9 AN §, A AT Arw Rs 24 §. 9 ge 30% & ar
v 7 a1 ¥7

(@ Rs25 (b) Rs23 () Rs21 (d) Rs20

Q71. By giving 25% discount a trader earns 25% profit. If he sells the item at 10%
discount, what is the profit?

uF S 25% BT & FX 25% ABT ARG FAT ¥ AR’ 9@ TFG A 10% gE W
AT ¥, oY T F4T 82

(@ 10% (b)  40% ()  45% (@) 50%

Q72. A man buys 200 oranges for Rs 1000. How many oranges for Rs 100 can be
sold so that his profit percentage is 25%"7?




Waiﬁ'FﬁRsmoo#zoo-q’a%aﬂam%.Rs1ooﬁmﬁﬁa‘tﬁmm%aﬁ

IHFHT ATH 25% &17?
@ 10 (b) 14 (¢ 16 (d) 20
7

Q73. A car is travelling at a constant rate of 45 km/h. The distance travelled by car

from 1040 AM to 1 PM is?
Waﬂ'(45ﬁw7ﬁ/ﬁﬁ'iﬁﬂﬁ'#ﬂa'!€f%.HTﬁT{'104OAMﬂ'1PMH$Wa§RT

fraet git ax &F = aeh

(@) 165 kms (b) 150 kms (c) 120 kms @ 105 kms

Q74. A man rows downstream 32 kms and 14 kms upstream, and he takes 6 hours to
cover each distance. What is the speed of the current?

wmmﬁm%awszﬁaﬁm*uﬁwmﬁwﬁmm%,aﬁtﬁ
Wg‘&aﬁmm#6dtm%.umaﬁrﬂﬁw%?
(@) 0.5 km/h (b) 1 km/h (c) 1.5 km/h (d) 2 km/h

Q75. A boy went to his school at the speed of 12 km/h and returned to his house at the
speed of 8 km/h. If he has taken 50 minutes for the whole journey, what was the total

distance walked?
ua:asa?rmﬁwﬁdtaﬂéﬂ%#amﬁﬁfa#w,amsﬁwﬁd%aﬁﬂﬁ#m
oy afe AT 3R 3§ g e & fav 50 Aee Fr @Ay o @ ar g a fr g4
gt’raﬂn%’?

(@ 4km (b) 8km (¢) 16 km d) 20km

Q76. A can finish a work in 15 days, B in 20 days and C in 25 days. All these three

worked together and earned Rs 4700. The share of C is?

A TE FTE F 15 AT # B 20 & # 3R C 25 G@T F waATT F¥ wwar & s Ay
3 frer T FH FRAT 3 Rs 4700 FATC .C FT g7 Fa1 Feam &2

(a) Rs1200 (b) Rs1500  (c) Rs1800  (d) Rs 2000

Q77. If5 traétors can plough 5 hectares of land in 5 days, then what is the number of
tractors required to plough 100 hectares in 50 days?

afy 5w 5 gAY i 5 Rl F Sa wwa & ,aY 50 Rat F 100 gwaw A
¥ T fraa gFe AT I 87
(@) 100 () 20 (¢) 10 (d) 5



Q78. What is the simplified form of 9v2 - V8 - 4v2?

N2 - V8 - 42 FT WXRFT T FAT B2

(@) 42 (b) 32 () 242 d) 2

Qf79;( The shadow of a pole 6 mtr high is 15 mtr long and at the same time the shadow
of a tree is 25 mtr long. What is the height of the tree?

TF GFEAT Y SR 6 Hiex S 3 15 e o ¥ 3R 36 gHT uE 93 i ST
25 Hlex aFr & ar 9= v FIrE fFae aeft 2

(a) 21 mtr ﬁ)) 10 mtr(c) 35 mtr (d) 40 mtr

Q80. If one-third of a two-digit number exceeds its one-fourth by 8, then what is the
sum of the digits of the number?

afx 2 3T Y UF HEAT FT CH-UF A saS-Itus § 8 afiw ¢, @Y sl F AT

FIT EeM?
@@ 6 b 13 (© 15 (@ 17
P

Q81. A number consists of two digits whose sum is 8. If 18 is added to the number, the
digits are reversed. The number is equal to?

wﬁwﬁaﬁmmstuﬁm#wmﬁmmaaﬁmm
(a) 26 (b) 35 () 53 (d) 62

Q82. Which of the following statements is true in respect of the expression

sin 31° + sin 32° 7

ﬁmﬁﬁﬁ##mmwsin31°+sin32°3rma1ﬁ?ra7mw#m%?

(a) Its value is O
sqHT AT 07
(b) Its value is 1
sHHT AT 18
(c) Its value is less than 1
sHFT AT 18 &7 g
(d) Its value is greater than 1

~  mEET AT 1 AT E



Q83. If 1 + tan 6 = V2, then what is the value of cot 0—17

gfe 1 +tan 6 =12 %,a’rcote—1$rnma=m%?

(@ 1 by V2 () 2 d 1
V2 2
Q84. Iftan 8 =3 and 6 is acute, then what is the value of sin 6
4
IfE tan6 =3 memma—wzg\a%a’rsinem"?"“’m
4

(@ -3 (b) 3 (c) 4 (dp, -4

5 — 5 5 5

Q85. What is sin 25° sin 35° sec 65° sec 55° equal to

sin 25° sin 35° sec 65° sec 55° fRA® aET &7

(@ -1 (b) O () 1 (d) 1
2

Q86. Which one of the following triples does not represent the sides of a triangle?
ﬁmﬁﬁ?ﬁ#mﬁﬁw,wmﬁaﬁaﬁnﬁwmﬁaaﬁmh
(@ (3.4.5) (b)  (4,7,10) () (3,6,8) (d) (2,3,6)
/

Q87. A round ballooh of unit radius subtends an angle of 90° at the eye of an observer

standing at a point, say A. What is the distance of the centre of the balloon from point

A?
mmmwmwﬁgAwﬁwmﬁgﬁ-@wgoomm

mm%.ﬁgA#gaﬁﬁ#’aaﬁg&w%?
(@ 1N2 (b) V2 (c) 2 (d) 1/2

Q88. What is the angle of elevation of the sum when the shadow of a pole is V3 times
the length of the pole? ;

mwmmmw%mwuﬁﬁmm#mmmW%?
(@) 30° (b) 45° () 60° (d) 75°

Q89. If B =30°, then what is the value of tan a ?
afy B =30°% @Y tan a T AT FAT FH?



@@ 12 (b) 1/3 © 14 @ s

Q90. From the t
o i s .
e boBorn.af & treeF: ::ea?)gglldmg 99 mtr high, the angle of depression from the top and
and 45° respectively. What is the height of the tree?

TH 90 Hlex 39 sHART & M§ @ HaAHT
TH 95 &
e 25E. g 5 S Rtk s F IWIR AT & FT FAA: 30°
(@) 30V3 mtr (b) 90 —30 3 mtr
(c) 90+ 303 mtr (d) 60+ 303 mtr

Srgl What is the area of a right angled isosceles triangle whose hypotenuse is 6v2

wmmmﬁwmw%mmmmm
(@ 12cm? (b) 18cm? (c) 24 cm? (d) 36cm?

Q92. The diameter of a circle circumscribing a square is 15v2 cm, then what is the
length of the side of the square?

Waﬁa;qﬁwaqﬁraﬂmw@mﬁ%.aﬁﬁwgwﬁmﬁw%?

(a) 15 cm (b) 12 cm (c) 10 cm (d) 7.5¢cm
/ a

Q93. How many 200 mm lengths can be cut from a 10 mtr of ribbon?

1ommﬁ#mﬁzooﬁﬁm¢$mﬂmmmﬁ?

(@) 50 (b) 40 (o) 30 d) 20

Q94. The ratio of the outer and inner perimeters of a circular path is 23 : 22. If the path

is 5 mtr wide, the diameter of the inner circle is?

ﬁmwa:mgﬂaﬁtaﬂaﬂqﬂﬁmagmzszzz . afy gu 5 #HeT =T
%‘a’l‘aq—%srﬂqc?rﬁrmw%?
110 mtr (c) 220 mtr (d) 230 mtr

(@) 55mtr (b)

Q95. The product of the lengths of the diagonals of a square is 50 square units. What

is the length of a side of the square?

waﬁﬁﬁwﬁ#aﬁémwsoaﬁﬁé&aﬁaﬁﬁgﬁaﬁm

frasiy 87

(@) 52 units (b) 5 units (c) 10 units (d)  2V5units



e A ssible
Q96. From a cylindrical log whose height is equal to its d'|ameter, th_e greatsts; \zgy’?
sphere has been taken out. What is the fraction of the original log which is ¢ '

mmmmmmmma;m%mmmmm
P v T § AW SR BT q Reae 3wy § B e R w4 7

(@ 12 (b) 1/3 c) 14 (d)y 273

Q97. The diagonal of a cube is 43 cm. What is its volume?

waamm4\13m.%.wiﬁrmwa‘?

(@ 16cucm (b) 32cucm (c) 64cucm (d) 192cucm
~

Q98. If the size of a cube is increased by 100%, then by what percentage is the
surface area of the cube increased?

uﬁwawa?aimﬁmO%qfaaaﬁh%,mma;qﬁmamﬁﬁmﬁ
wfaera #r gfy gefe

(@) 150% (b)  200% (c) 300% (d) 400%
—

Q99. What is the least number of straight lines for a bounded plane figure?
T IREE FAGE IMHia F v wa Y@t @ =gean dea #7487
(@) 1 (b) . 2 (c) 3 d 4

Q100. There are five lines in a plane, no two of which are parallel. The maximum
number of points in which they intersect is?

UH FAGS H U9 @ § OEA @ 78 o @ e a9 ¥ 3 O Rt @

(@ 4 (b) 6 () 10 (d) None of the above HIE st A
-
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